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(A)  ize v e A (D). - e e A
(C) iz e Hgm T
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(A)  Gentral Pollution Dnrﬂfﬂ*l 3:’; . (D) Control Pollution Central Board
ra

(C) Central Poltution Cen!
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What is the main advantage of using a double-blind study in research 7
| | (A)  Itis less expensive o conduct

(B) It simplifies data analysis

(C) It requires fewer participants

(D} It eliminates researcher bias
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| Which of the following is known as the Powerhouse of the call 7
(A)  Mitochondria (B} MNucleus I
(C) Ribosome (D}  Endoplasmic Reticulum
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s feewal i e’ e g Tordt mE £
() i O e (B) weRe wHi
(c) i = (D) AT TEE
The book ‘Discovery of India’ is written by whom 7
(A)  Suryakant Tnpathi Nirala (B) Mahadevi Verma
(C) Maithilisharan Gupt (D) Jawaharlal Nehru
2016 =i Areast # TH 2 Faga F41 = #Atan g =0 97 Sk
(A) 30 femen (B) 31 femmm {GlJ » ; ;ﬁﬁﬁmﬁaﬂéﬂ
; . :
:I:Tal ;'Igst:::el;sbt ;:,at& ?;;Ergﬁnggifnﬁgmnﬂ{%? 18 Oclober (D) 20 November
B gt | W e g g
(A) g T ST (B) wH
(C) Fer (D) M
Which country is the largest by land area ?
(A)  United States of America (B) Russia
{C) Canada (D) China
HHEHRT & AT S e 754 adne w9 e ?
(A) 10 Temi=m 2022 (B) 10 &%= 2023
(Cy 10 f&=a7 2020 \ (D) 10 f&==R 2021
When was the 75™ anniversary of the Universal Declaration of Human Rights celebrated 7

(A) 10" December 2022 (B) 10" December 2023
(C) 10™ December 2020 (D) 10" December 2021

frtfetia 1 & 1 W HE e S 7

(A) e (B) WwEE (€) fE=. - (D) F=nm
Which of the following is not a social media platform ?
(A)  Naukri (B) Facebook (C)  Twitter (D) Instagram

T e 559 e T e w5 R wai e o

(A) s fiel wown i s

(B) SiERieTg HeAm H WA Fh

(C) g At Al F T s

(D) Tt YT TR S wiei e w5 e

In what ways does the rise of populism affect global political stability 2

(A) By focusing on national interests -

(B) By strengthening international cooperation

(C) By addressing shared global challenges

(D) By increasing political polarization and undermining democrayic institutions

s, faindt vl = wafis s a7

(A)  Torset Wl 1 HE (B) =mreiia 3t Howghe
(c) famifedl =i AR SEH FA (D) Faifidl =1 B g
What is the primary objective of counter-insurgency operations 2

(A) Supporting insurgent groups (B) Megutiatiunanummpm

(C) Providing amnesty toinsurgents (D)  Military suppression of mise

ins.urgants
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(c) @ (B W

Alkis “1* in 1GST stand for ?
i (g) Iegrated

Ao & g SR E]
(B) fre

is the Capital of Australia ?

; (g} Brisbane _
S 3 & o i foord 9% (RBI) w1 w7 &7

! Tt 3 S T

i (D) feee wg = fafmme
Which of the following is not a function of the Reserve Bank of India (RBI) 7
lssuance of currency notas

(D)  Requiating foreign exchange

(D) HeE

Melbourne

(), fet

ffems =itfy = dawer

Regulating the stock market
Conducting monetary policy
ufem famrs 5 (ADB) ¥ w7
T e il i e s il e

(B) =% ufimE-wain s 1§ fai TEn w5 T S R

o7 Tamm sfeme & fom o gemm weE & 2

(D) =% weed T & i T B VA S

What does the Asian Davelopment Bank (ADB) do ¥

It enhances trade agreements batwean meamber counlries.
It reguilaias dnamcial markets in Asia-Pacific countries.
il assistance for the development projects,
i exchanges of member countries.

T T T

When was the first five year plan implemented in India ?

(C) Itpriisss

T T T

T Wi, W A (i 2004 ) w G A, fRR tw o yaE w30
(C) wmE

Luis Montenegro, recently seen (as of April 2024) in
which country 7

(D} afFEEH
the news, became the new Prime Minister of

<1 TR P R i e o s

Which organization
South Asia 7

TR T AGH W e i e d

focuses on anhancing reglonal connectivity and economic integration in

(E)  ASEAN
RS WA & FE
B) e 14

an Constitution guarantess
(8] Article 14

(D) OPEC
TR vy o st S i
(C)~ T2 19 (D) a7 21

icl
Which ariicle of the Ind| the freedom of speech and expression 7.

____"——————_—.-

& Download SSC CGL, CHSL E-BOOKS i

&7

e

R


https://sscportal.in/study-kit/police-constable
https://sscportal.in/ebook

— DOWNEOAD FROM @ https://sscportal .in/

64. WIFG % WL AT wATE % |
(A T T (B) wIE TR
(C) it fafirm Afew (D) HC e AT
First Governor General of Indiawas_________
(A} Rabert Clive (B) Lord ﬁnmhari: -
(C)  Lord William Bentinck (B) - Sir Charles M& + st o 1
65. Wi  Hfavm & %wwmmﬁ?ﬁ“ﬁ
(A) et ST (B, el 7
(C) ot e {[{}_;hﬂmﬁ Constitution of India
Cybercrimes fall under State subjects asperthe _______ofthe '
(A) First schedule (B]Seventh schedule
(C) Sixth schedule (D)¢ Third schedule
66. Em i med T ay

(A) TR W i W

(B) ZfE @M

(C) TaReil &, =vait wwe aiit i e AT % S § PN Hiem W, W i
I’ (D) iy 1wy Fm T wee wiem A e T W S S WA

Dumping refers lo :
(A) Expensive goods selliing for low prices

(B) Reducing tariffs <d
(C) Inabroad Sale of goods at a lower price; below their cost and price in their home market
(D}  In abroad buying of goods at low prices and selling at higher prices locally
67. Ty = =ify o i # wEeR frr 4
The Indus Waters Treaty was signed in the yaar :
(A) 1852 (B) 1949 _(C) 1980 (D) 1950
68. TN WYE fGaW F9 WA W J
(Al 10 e (B) 5 wim A (C) 4T Sk
When is National Maritime Day celebrated 5? . P
(A) 10 July (B)  SApril (C) 4 March
Dy 7
69. i fig U fawesl § & RDX = v wy # . Thaniy
(A) T EEHT U (B) T fowdifz vamgiye
- (c) T fewdz wamwifie (D) T otz vty
Give the full form of RDX, from the options below. ;
(A} Raw Detonation Explosive (B)..R

esearch D
(C) Research Department Explosive [Q]F,}Flesaamh Dﬁg?::trf;g;w?“
T0. ﬁmﬁﬁaﬁﬁﬁﬁﬂwﬁwm&m#;ﬁammﬁm osive

Lili-ch
(C) e Fedie (D) e g

India ? RAMSAR site under the Ramsar Convention "

(A) Chilka Lake {E_:!:_’_;Sunderbnns

, Which among the following was designated the first
(C) Wadhwana Wetlands

{@}Iaéﬁshtamudi Lake

e S e SRR
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" ferddi 7
anﬁﬁgaﬁmﬁﬁw i (D) e

A I (B) L) ;
: . little clay cart) ? :
Whowrae vt DS T vpytasra (0) Kaldms

) 4
% ferefar el & it e P A €4 = 4

Bl o8 500 7 (D) it AT N o X

(C) =g spwmrm
Poverty in less developed countries 1S

A intelliqence of people (B} Voluntary idleness ;
Ec}h :rnicnkn?;!;rn“eaélﬁirr?& ;2 (D) Lack of cultural activities ..

o wfirel = et e (7 ) &
(A) T (B) (C) =Y

Which mineral is known as 'Buried Sunshing’ ? .
(A) Coal (B) Iron (C) Mica (@)

2016 & yrra = fagerm if = mufien S8 ¥ 917 Ay
(A) S g g A (B) T W W HF ,
(C) amfeer o 1 FgmEN 511 (D) TETERTE I HH H Y C

argely due to :

(D) R \

Bauxite

What was the primary objective of the demonetization policy implemented in Indizin
(A) Promoting cashless fransactions (B) Curbing black money . x ™ &Y
(C) Boosting economic growth (D) Reducing inflation Q}#E:

C’ﬁ,.
T I T S A1 12.36% T T A | o o
Central Excise Duty rates wera increased from 12.36% to . ‘%{Eﬁ cﬁ \
(A)  20.0% (B) 13.10% (C) 12.50% (D) 16.50%

A, B & C w1 e =1 oiwm 3w 45 798 & 9fg A =i B % ofafem %1 ofvem o 40 vy & sl p o
C = Wfifsd = oo 79 43 v | S g w e S am s iy

The average per day income of A, B and C is Rs. 45. If the average per day income of Aand B is
Rs. 40 and that of B and C is Rs, 43, then the per day income of B is : ;

(A) Rs. 425 (B) Rs. 30 (C) Rs. 31 (D) Rs. 41.5

g Terefl/sier =t Wit e § a2 ;

(A) 1.5WFET  (B) o5veyAEE  (C) 2 : '

Convert 9 km/hr into m/s, i R . S

(A) 1.5m/s (B) 05mis (C) 25mis (D) 35m/s

el T F F1 51 el F o1 e ) Faviet ol Ay @ A 2
bl .aﬁmﬁsn%mﬁmgﬁmtﬁtﬁwﬁ
(A) 10012)RT " B) 44z (©) a2fa (D) 34

Komal can da a work in 51 days, Bimal is - _
sy ciys Bl wil ot thalam:mh : al Is 50% more efficient than Komal in doing me\ﬂnfﬁ In how

(A) 10(V2)days  (B) 44 gays (C) 32 days

A} 44/5

( (B} 4155 (C) 42/5 T O\}' 5 of
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8. ﬁn'?'l1,1E,ﬂﬂﬂmﬁﬁmﬁw-ﬂ}—m|gqﬁﬁiﬁ.Bﬁﬂu'nmﬂﬁﬁwm
= 3 e 117, e % 2 Y A G 3 72,000 79 7 5 TS S AT 5 8 ey
Waﬁﬂﬂﬁﬁmﬁﬁiﬂ.Eﬁﬂ,ﬂﬂﬂ?ﬁﬁlﬁﬁﬁﬁﬂﬂﬁﬂa‘mnmm%mmﬁ
Eﬁﬁﬁ#ﬁﬂﬁﬁqﬁ'ﬁ?ﬂ%ﬁﬁ#&mﬁﬁmﬂﬂﬁaﬂmm? ‘

(A) 33600%F  (B) s2ao0w@  (C) osgo0Fd (D) S0.800FE
A started a business wilh a capital of R, 1,12,000. After 2 months, B joined the DUSINESs with a capita)
of Rs. 80,000, and after ancther 2 months, C jomned the business with a capital of Rs. 72,000, After

10 months fram the start of the business, B withdraws Rs. 8,000 and C also w'rtlh-:lra%-;s HE,IE‘:}U[}, If
B received Rs. 9,600 as his share in the profit at the end of a year, then the total pront was |

(A) Rs.33,600 (B] Re. 32400 (C) Rs. 35,800 (D) Rs. 30,800
B1. ﬂﬁiﬁﬁﬂﬁ@rﬁ#ai‘uﬁmﬁmﬂﬁmanﬁﬁq&ﬂ;ﬁm,ﬂﬂﬁﬂﬁﬂ.ﬁﬁﬂ.ﬁﬁﬁﬁ@mﬁ
B g W A i = W — -

-

The average marks of 28 studenis in Mathematics wasg 5, B students left the school, the'._. E_‘
increased by 0.5. What is the average of marks obtained by the students who left the E

(W) 456 (B) 505 (©) a7s [O) 425 . e =
82. ﬁﬂ'ﬁﬁﬂﬁﬁﬁﬂﬁlmﬁﬂmﬁﬁiﬁﬂﬂi?ﬁﬁmlﬁﬂwﬁﬂmwlﬁﬁma@ﬁﬁ;—'??_

1 47% HIW1 R & i 7E 308 T e #, 9 weifr wewmel w1 gen @Ay s -
There were two candidates in the election. 10% of voters did not cast their voles. 60 votEsmas
invalid. The winning candidate got 47% of the total votes and won by 308 votes. Find t==

voters enrolled. ::_—f::‘;_
(A) 6340 (B) 6,150 (C) 8,800 (D) 6,200 —_— "
83. I AR 5% e % W T Wi 608 T 4 20 Faeiu s i) @i wEm S —— -
e o qeq w7 e —
With a 5% discount on the cost of sugar, a buyer could purch p;ﬁ_:_:—?
is the original selling price of sugar 7 _ = purchase 20 kg mora sugar for —— -
B4. 17 EIHI FI 720 T H IS F AR, TF TEA Fw & 06 5 ey &
T W W e e a7 TS R
AR lling 17 books ler Rs. 720, a sh
ﬂnﬁrast:lng:t‘g r a8 shopkeeper says that he [psses by C.P. of 5 books. Find the C.P.
{A) Rs. 90 (B) Rs.50 IC) Rs. 60 A S
85. UH SN OF 9 K 6 W 2% S m s i o
sife e T E? ﬁmiﬁmzn"ﬁrr&%ﬁr@ﬂ

A shopkeeper allows a rebate of 12% on the marked price of a
Rs. 1320. Then the marked price of the article s : N aicle such that the selling

(A) Rs. 1550 (B) Rs. 1480 11€) Rs. 1500

86, e [T 2 A H 4% TH TG W R H 13,520 T F i & N5 o P
A sum becomes Rs.13,520 in 2 years at 4% per annum ' T W
is | ~oMmRound interest. Then the original Sum

1

(D) Rs. 1800

(A) Rs. 12,500 \B) Fs. 12,250 (€} Rs. 12,700
(D) Rs. 12,450

: ﬂ:é e ———
RZX-24 11 ey S
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. A
njlj ‘Q & f?ﬁﬂﬁﬂ"r’ﬁm}{
73 78 20% T 26% F 6,
B BT B HEmd x ﬁ,-ffa;#ﬁlﬂﬂﬂm 3 e
o 8 : third number Z By what percanite:
Twon bamxard‘f&reremﬂﬂm'?m"“"dEEWESEmana ol ¥ pe s g
um | e
Emn“mhmmm"wgm i (c) 10% (D} 9%
{A) 8% (B)
g8, mﬁmﬁu“ﬁmwmﬁnﬁﬁmﬁﬁﬂaﬂﬁmﬁﬁxmﬁnﬁ!éAmﬁfﬁm%ﬁ-r
ol dhm el T R L w da e

fedtrgmr (D) 4251#3?@3:

el p  97.5 e g R (C) 40
aﬁﬁﬂgﬁﬂh walks lmrf::rmnqﬁ[u.:g B with 50 km/hr spa-ad and returns B 10 A with speed of 36 Mnﬁw Firid I'||E:
. ST eed.
! _;T': aﬁwragisﬁpkmmr {Eﬁ 45}“"‘].”'“' |:C'l:| 40 km/hr |:D] "-'rEEl‘lmi{h'f

g
A ey mmmmwmzﬁmﬁmﬁﬁmﬁﬂaﬁmﬂ%ﬂ' ‘;?'
i Wi ' The amount will triple in 25 years on simpéa interest. -Find the rate of interest.

i LA 0% (B) 15% Gy 12% (D) 8%
||| 180, W ﬁﬂ:hhi?r19mwﬁﬁﬁhi§§r5ﬁ,ﬁﬁﬂﬁiaﬁmanﬁﬁﬁﬁm&ﬁﬁmﬁuﬁmm
.I" .II:I-I ':. : \ .qui‘ :
; AR Eyueilingatape-re:mﬁerfmﬂﬂﬂlﬂﬂ Hnﬁﬁ'a Wha'lparmnlshaﬂlgaln h[.raelllngﬂfnrﬂs man? i
@R S 19 (8) 85 G e 0) 45% |
_ﬁ_ﬂ o1, THY, wiTSastaE mmhﬁﬁﬁﬁ%mﬁ’ﬁﬂﬁmw sﬂrmﬁﬁa[m]ﬂiaﬁ
1 EafmEs 5'%§ﬂhﬁmwﬁﬁmwﬁfﬂn?
5T 5l e (A) 10(1/2) . iE 2 ol [c) 21 (D) B(1/2) W

ﬁ || A pumg can il a aruth waler in 3 hours, Due o heauagamﬂwhumm ttakes 5(1/2) hours to fil it

%*‘3

.
-

H In what time the leak will empty the fully filed tank ?
I {A) 10012 hours (B} 12 haurs A{C) 21 huurs (O E{T!E‘: hours

i 92. THFTAHAUATE, XY, 3$%’E‘Fﬁlﬁ%|ﬁﬂﬁ]ﬁﬁwﬁmﬂﬁmi M A TEyY W
1 e e &, A X 3 Y 1 o 22 3 @ W & ) Wi v e S X )

A cantainer contains two liquids, X and Y, inthe ratio 5 : 3. When 8 liters of the mixture is drawn off,

and the container is filled with liquid ¥, the ratio of X ta Y ;
_m the container initially 7 9 becomes 2 : 3. How many liters of liquid K wa

= B 10 ©) 163 o 13 2 ﬁc
. ?nﬂﬁ?ﬁ:fm:gﬂmm HCF 5 & | % wemeil = 9m 100 % 3 w0 <im 9 Fifaw )
' thelr differance, ""mh""s s 495 and their HCF Is 5. If the sum of the numbers is 100, then find
20
o %mm mwwﬂﬁmﬂ 1 % ﬁaﬂrmﬁiﬁmﬁmmaﬁqaﬂ!ﬁﬂﬂ
| / Tharaljnnfgngnnmmlﬁmﬂ" @TWWW‘J f'J'ﬁiE‘Fﬁ}

off and substiuted by e o " & MXUIE 8 3 1. How milh fton of the mikture must be deaw

(A) ' 34 B750 that the ratio of glycerin'and watér becames 1:1 7

® 13 ©) 12

'|

(D) 23

RZX-24
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95, ﬁﬂﬁfﬁﬁﬁﬁ#mmﬂﬁ&nmﬁﬂﬂm#fﬁﬁﬂﬂﬁﬁﬂﬁmﬁ%ﬂt- -.

ok |
Which of the following diagrams best represents the relationship Detween ExamnmuﬁH .&% |
and Practice ? | | ,-,

OO f?‘:i}é"'fh f_.iif-;.f ,;E.

(A) (B

o (01D @O

96. % wR ‘EVEREST' #Wﬁmﬁﬁqﬁmﬁﬂmmﬁﬁ*?ﬁﬂmﬁﬁﬁmm
-3 =

If the letters of the word “EVEREST" are arranged alphabetically, then which letter would be 2nd jp 4,
right from the second letter of word ?

(A) S (B) E [c) V ' (D) R

97. afi =Ty 10 ey T E 3 e it 6T 180 Tt < i g o o foEm e F W R €2

(A) e (B8) =R - (C) IW (D) T
Which way are you facing now, if ynu walh 10 meters to the North and then turn 180 degrees to the
right 7
(A)  West (B) South {C) MNorth (D) East

98. ﬂﬁﬁmwuﬁmémﬁmﬁmaﬂaﬁwﬂmmmﬁ#m%lgmaﬁﬁﬁﬁm
600 ¥1

Given below is thE: pie chart which shows Ihe percentage dlstrlhutl-::n of the five types of ice-creams
available. Total number of ice-creams is 600.

ICE - CREAMS

Caramel

%W-Wﬂﬂﬂﬁﬁﬁ%ﬁﬁﬁﬁﬂwﬁmwwﬁﬂﬁﬁﬁﬂ@ﬁ
21 sfue B, M =0 SEwE Gl awd wfeensd S wen @ i

If number of females who bought Vanilla ice-cream is 21 more than number of males who wgﬂ
same flavoured ice-cream, then find the number of females who purchased Blusberry ice-t'®

(A) 25 (B) 82 (G} 81 {D) =20

0.
RZX-24 13 PT
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9. ¥R fug (7) 3 e e g A 6 I ST ALY

Choose the appropriate figure from the Answer Figures to replace the question mark (7).

™

( @2 |7

e ———

(A E @ ﬂ () 53 © ﬁ

100. =% fames g 3ifan o W 96 & 9 W a0

101.

102.

Find out the alternative which will replace the question mark.

16:7::35:7
A} 9 (B) 5 (C) 7 (D)} 20
T =l o ST W w3 A |
By analysing the graph, answer the question.
Foreign Exchange
E000
5000
4000 ;
20 B Forgign Exchange
o it
1000 T

‘ D
b

%%

18031854
1886-1297

1885-1006

1992-1833
150-1005

1992-1983 =2520

1993-1994 = 4201

1994-1995=3720

1995-1996 = 5040

1996-1997 =2120

fera = Tl e et & ot od it g e g o i 42
For which year, the perce
highest ?

(A) 1993-1984 (B) 1992-1993 (C) 1994-1995 (D) 1996-1997

sl A 9 WS (ARB) 70 %% i B A = 7

Find the missing numbers (Az R ; . ;
51,57,63,A,75,81,8 (A&B] in the series and find the value of B— A,

w ¥ B) 28 (C) 22 (D) 18

Mage increase of foreign exchange reserves over the previous year, is the

ﬂ-'__-“_,__________

RZX-24 14
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103, TR #wen # &0 = oemm : Z, W, R K, 7 i ﬁ?’f
What comes next in the series : Z, W, R, K, ? Rewg: 3.,1:' c

| (A] D B) A ©) B ﬂf»% B 2
1Dﬂ.ﬁmﬁﬂﬁ5'ﬂﬁﬂmﬁﬁﬂmiﬂﬂt5ﬁﬁﬂﬂwfr ' 3 =i WY A S, figy

aaﬁaﬁmﬁaﬁmﬂtmﬁmfmqﬁaﬁaﬁnlﬁgﬁaﬁmi::;ﬁm@ﬁrwm
(A) 2 i o i 3 =i T (B) 4ﬁﬁqﬁaq#ﬁ4ﬁﬁm
) 1 =issmm R 2=waw (D) 7 wsifep e 3T 3

| 7
hen 2 blocks i 4
I A person starts at point A and walks 5 blocks North, then 3 I?Iﬂﬁ'in-"':n‘;”fﬁln then 2 Diocks South a:|E;[§ 13&'
} finally 1 block East. What is the person's final position relative 1o pa! iiokes Hlonth iﬁ;r it
{A) 2 blocks West and 3 biocks Morth (B) 4 blocks West and 4 o A :"i::
(C) 1 hlpck Weet.and 2 blocks North (D) 7 blocks West and 3 3 oy LA
105. T wrefl g AL T el 4, o T el o ¥ 5 =1 1 O U § G fim
&7 {'r o
o @) e © w0 R
st ltkelated to Anthony 7 Tt
55 ister (B) Neice {"f:i Mephaw (D) Brother
: IR e L R ",,-5;5.'5:-
5. A Y e T (AGB) T T 3iR B A w1 AH # ’
Find the missing numbers (A&B) in the series and find the value of B—A. \ ,E
123, 148, A, 198, 223, B, 273 g.2% b!
(15100 (8 25 %ﬁ] 50 (o7 75 !::@
L,
107. =& g % wm A |
Find out the alternativé which will replaga-@ ion mark, - 1 1 o
138:184::723: 7 g
U - —— € 7a o) 77
108, 3 s B e £ syt i 8wl o Sl = den i ) sy 3 e i o n e
2 et 262 7w e ) Pt i 3 P o S 2 i 6

Bact ows the number of pecple who bought ice-cream and drinks in a theatre.
¥ lce-cream is sold for INR 3 and drinks are soldfor INR 2. Atotal of INR 262 is spent. How many peope
= bought both a drink and an ice-cream 7

! ' 90
Drink ce-cream , t; S' ?

109. Freafan # @ e Y91 % @16 il aeimen gm & §7 qh IBS‘?‘:’ ‘
.“ Which of the following Words has its letters in an alphabetical 2y et © ﬁ é
| i B i (C) [ Swim U845 Almost
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St
0. Freafifiay gy 4 e & AL G
. A+BmalEABRALL L &%@ 3

i s

. A-BwiadTA E.afrﬂ‘l'ﬁl P e
. ArpmadiapFi@E

:
2

| -y
4. Aﬂﬂﬂﬂmﬁ?.ﬂ..ﬂﬂﬂrﬁl Y | 0%
The following question pertains to the glven infarmation ;
1
2
3
4

T

. A +B means Als the mother of B.
. A—B means Ais the sister of E.'_
. A*BmeansAis the father of B

A { B means Ais the brother of B. S

Prefafar d f s o e E N, MR A =Easdmivs
Which of the following indicates that“N is the matemal uncle of M* 7
(AY NBP-L+E-M =N (B Q*N*M+FP
(C) P+N*M*Q D) QBMBN"P

m. ﬂﬁ*FAEULW-HE#@,W{.#HE#Hmmﬂmmmﬁmﬁmﬁmm@%
ﬁaﬁmmmﬂﬂﬁﬁmﬁqﬂﬂﬁmwﬁ,?ﬁaﬂmaﬁwﬂmﬁﬂa@mmmmﬁ
ﬂmﬁﬁiﬁmmmtﬁmmﬁ‘x'%mﬁﬁfﬁﬁmﬁiﬁqm@ﬁm
= WY, 7 e s 2w =8 fafem w0 e
If a meaningful word can be formed-using the second, third, fifth, and saverth letters of the word
"FACLULTY", with each latter used only ance, then provide the last letter of that newly formed word as
your answer, If no such word can be formed, mark your answer as'X'. If more than one such word can

be farmed, mark your answer a8 'Z . .
Ay [ A e C) Z D) Y

112, 3 v et el o it G & e @ e S o e A A R
# | 5 Tl F o) F1 w1 = o um we o o T e wEien SR S w0 6
Given balow is a pair of words /lefters/numbers separated by a colon and followed by four answer
chaices, Choose the pair of words in the answer choices that best expresses a relationship similar to
that expressad in 1he original pair,
ABC : Z¥X:.
(A) CBC:XZY  (B) BCD:YXW (C) CDE:XvZ (D) BDE:XCD

113. aft aBb=a?+b+1, afb=a+b2+2, T (4§3)a2 T F|

" Ifadb=a®+b+1,afb=a+b? 42, find (453)&2,

(A) 286 (B) 228 - {C) 242 (D} 322

1@.{&3@'.‘%’;&2L‘ FadifEK Lafm b K+l AT LR kL sadifrr L®
jif;j.,{:;'g@]ﬁ}ggﬂ'm+w+mp'ﬁ NFPHF T E?

#ﬁ.@w Lok o8 “(B) N PEEEE :
W PR R (D) NPREEWEY -
If "Kx L means K is father of L, " +L means K is wife of L and '+ ' means K is brothe ~_ 5
what s the relation of N with P in ‘M +N+ Ox P’ ? A e
(A) Nisthe fatherin-lawof P~ | (B} Nisthe uncle of P aERmers
(C} Nisthe sonof P " % (D) Nis the cousin of P S

1

RZX-24 16
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E—— P

.

I e A-
1 ®) North-Eag (B) South-West (C) South-East

e T_ﬁﬁmﬁﬁ#ﬁ?ﬁmmﬁﬂmmmmﬁmﬂm%?
L oy S G
Walking toward : o ... iaht hand in whic ion 7
ards Morth - East direction saes his 1'g (©)  North-West
e 913 "REGULATORY", weg 3 it anagdf 1 sl avfern 5t 3 IR e Fl ST, T e
el il ) fe e C oy _
lfc?sll'tt:E letters in the worg ‘REGULATORY", are arranged accordifig biﬁlﬂl'rsh alphabetical order, the
?A} " Ens " E::l*! '- -,E'xi:i-'f “ﬂlﬁ will remain unchanged after rearrangement 7
=== ) 5 C) 4 (D) 3

ﬁmaﬁqﬁaﬁmﬁqwﬁa‘mmmaﬁﬁﬁﬁﬁwmﬁ%mﬁm

A1 b

Ldd ook In 6 days if it takes 10 days for

(A) 28 (B) 25 (D)

118, 7% 95474 1 FBADA % wu # foren s 2, 4 06457 - g = ABD
If 95474 is written as FBADA, then how is 96457 written 7
() FDACB (B) FCADB -{C) FDABGC (D} FCABD

118, afer 1 e 1 3w 1 3 3 | fred Fo il 4 fafum Tl § o shwnd wien # sife @

A 3t Sl S5 AT TiEn 9 g
Examine the table and answer the question. Number of Candidates Appeared and Qualified in a
Competitive Examination from Different States Over the Yaars.
1997 1998 1589 =

App. | Qual. } App. | Shel ospn, . Ls- 1 fop. | Qual
5200 720 B500 980 | -7400 850 6800 775
7600 | 840 | 9200 | 1050 | 8450 | 920 | 9200 [ 980
6400 780 BBO0 | 1020 | 7800 | 890 .T e

8100 | 950 | 9500 | 1240 | 8700 | 980 ==g
=800 | 670 | 7600 | 940 | 9800 | 1350 =<

| s vt & 5 el 9 W, 2000  Hof W @ ool e i g
i e & 7

Toldl nyriber of candidate

z|o|o|=z(=| B
1]

s qualified from all the states together in 1998 is approximately wha!
ber of candidates qualified from all the states together in 2000 ?

per he total num
m],m?;?ﬁ;?;;: 5 @) 10817%  —(C) 108.27% (D) 109.17%

| g s\ e o i A ) SR, TR A RS S T et o 3 fon €1
Y vty 3 oy T AT €7 v '

| I8} ﬂ @) (C) ettt (D) et

l' Heera Is the daughter of Amal's father's sister Rema. Arya s the daughter of Divya who is the mot"™

Amal. Murali is Rema's father.
s Arya related to Murali ? (C) MNiece (D)  Grangd-daughter

HII.E‘ 17 P10 -
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e o TEET H # 250 % i ISR A T, 175 Y e s
5% ETﬁﬁ%ﬂﬁ;ﬁﬂlﬁml 15 A 3w i g %ﬁﬁ?
mufs mﬁﬂmmﬂmm 3 20 3 Wmﬁﬁ?ﬁﬁ*ﬂmﬁM|mwi
?ﬁ-—ﬁmﬁ”ﬁﬂ lﬁﬂ' ﬂmlﬁaﬁﬁg‘qﬁﬂﬂﬁmiﬁqﬂ B ?
Out of the 600 guests inited to the NE'W Year's party, 250 opted for Indian food, 175 had Walian fiong,
and 100 had Continenta! food. Additionally, 15 guests had both Indian and Italian food, 10 had oy,

had both Indian and Continental food. Seven quests had
; . =ntal food, and 20 guests had all threg
e . How many Questsdid ot attend the party ?

(A) 145 (B) 134 (C) 120 : (D) 138
I i 3 " = ‘Il-ai:%l?a':‘?
122, T il i T8 T S i 00 et & ﬁ-—f}%ﬁm ¥ 3t fire =fromed fown
45 Tegl B = L A &7 T © T e g o R w12
S ER 41 e AL
(A) =fEm B - (C) T (D) Im-gd

¢ = A man facing South - East makes 1_hreIe turns of 80 degrees in the anticlockwise direction and then twa
5 45 degree lums in the clockwise direction. In which direction is his right hand naw with respect to him 7

b (A)

G Souf B) South-East ' (C) East
) iy
3, 54,74, 56,120, pukead
Com :

Mﬂﬁﬂ@ :ﬂ%&ﬁﬁ&)ﬂﬁ. :

(A) 148 Yisk- (C) 1865

124, 3% MANGO 3180415 % =75 Sifea a1 7 2, < Fraffian # @ frmm o =r=81504 37
If MANGOD is coded 25 80415, then which of the fellowing has thus numerical code 81504 7

(A)  AOGMN (B] MNGOA (Ch M (D) GOANM ) F}—}"J
125, nﬁwm,wm,____{ﬂﬁl m {;7
Co the series 18, 40, 70, 108, 1
(A) 164 (B) 134 (C) (D) 154
: \
| Find the odd one out from e given options. e &
W & 8 5 ©) B o D) 1B

18
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129, o frn e g 8 43 8 o g 8o g o, g o o 5 e 1 T SR gy

2 e o e 3 e M\ 5
R LT (8 ;
w @) < ©) @ @ f

Six friends are sitting in a circle and are facing the centre of the circle. Deena is between Hf'nl:lhu and

Unni. Aby is batween Biya and Betty. Nandhu and Biya are gppnsite tp:_i gach c!ther.
Wha i sitting right to Mandhu 7 s .
(&) Aby (B) Deena (C) Bety (D) Biya

(1024)) x 470+

13p. VUM T T o WA I S
16" x 4"~
(AIS) . 420 +1
Evaluata the expression (1024) x 41 :
16" x 4"~

(A) 128 (B) 64 (C) 16 (D) 32

131, HETE W '
Complete the analogy.
B:256::27: .
A 729 (B) 218 (C)~ 90625 e Ao{D) 6581

132. T FivE Frz 9 H, ‘COMPUTER' 51 'DPNQVUFS' ferm = &1 33 Fr= § ‘LAPTOP' =1 43 famn

e ¢ : / _
In a cerain code, “COMPUTER' is written as ‘DPNQVUFS'. How is 'LAPTOP' written in that code ?
(A) MBQUPQ (B) MBQUQP (C) MBUQUQ (D) MQPUPQ

133. 4 T FAN B, A A wE-E R A :
(A) ThER (B) W (C) HmHEm (D) FHrerEn
If the day after tamorrow is Friday, what day was yesterday 7.0 (L ., '
(A) Sunday (B) Wednesday (G} Monday (D) Tuesday

| L I O

Fa A O 0 [ AL 1AL A Ty

Fa = Fa FAY

T Tl F A 905 ofwen § svren e 4 F#
Choose the next diagram in the above series from the options given balgw «

a A B e
w | O ®m & 0 (o o [0 A

RZX-24 19 BT.O.
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135, Arw @ Wi

136.

137.

138.

139.

EE ot e v —
(&) wwwm  (B) T 7 (D} e
Complete the analogy.

ight : Bulb ; : Sound : __—— .
;f} Microphone (B) Speaker {C)- Mouse (D) Headphones

weh wffaa 3 i |
Find the mirror image.

/il
ALY A VAR Y\

Indicate the option that is different from the rest .
(A) QUSR (B) BFDC (C) VDWW (D) KPML
ﬁﬂﬁﬂlmmﬁﬂﬂﬁ‘Tf’I‘ﬂT,"Hﬁﬁﬁﬂﬁﬁ#ﬁﬁﬂﬂﬁﬁﬁ%l"ﬂﬂﬁﬂﬂﬁiﬁﬁﬂw

i &7
(A) HE ) ¥ (C)  smdt (D) =

Introducing a woman, Shashi said, “She is the mother of the only daughter of my son.” How that
woman is related to Shashi 7

(A} Daughterin-law (B) Daughter ' (C) Sister-in-law (D) Wite

T W T SR e A a G, W, e SR S e O e fRe
=1 WY EI 3 7R, 4 R, 5 T ol 6 TR, oA w0 T8, =l wu § | wen ot g HiE

e = 7O 4 e § ) wv  wwg e o e % ww e wed e d ) w5
g AW e ?

(m 4FF (B) afam (C) 5fm D) 7%A

A manager has ateam of four people : Adam, Brian, Carol and Diana. Each one has a different praject
deadiiné : 3 days, 4 days, 5 days and 6 days, but not necessarily in that order. Adam's deadline is

s dond ey o Bran's deadtin is not the longest. Diana's dsadiine is the shortest. Wat
(A) 4 days (B) 3 days (C) 5days (D) 7 days
AZX-24 -
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140. Fwififigs fias & e (F2RTR) T HEA TH Hifa)

Determine the number of pentagons in the following figure.

A 0
W

(A) 10 (B) 5 c) 640 (L)

8

PR " S—— e P EE LR

4 he figure.
Fram the figures given, select the one which is mast suitable as the last part of the figu

(B)

Aaﬁeaﬁ,aﬁzaﬁaﬂrMWzah ﬂﬁﬁwﬁﬂﬁmﬁmtﬂruumﬁ:ﬁammm’mﬁ

142.
i 14 F Em?
If A is substituted by 26, B by 25 and so on uplo Z by 1, What will be the sum of numbers substituted
far the word ULTRA 7
(a) 61 (B) T (C) BB (D) B3

143 qﬁﬁmﬁﬁﬁﬂwﬁmmﬁﬂﬁm%aﬂtmﬁﬁﬁilmﬁmﬁmﬁﬂﬁﬂf}ﬁl"-q."-raﬂﬂ,
P et v A o, St v S, S g e e T

| A hunter was asked how many birds he had caught and had in his bag. He replied that Iharaf were é:!'
' parrots but elght, all ducks but eight, and all swans but gight. How many birds did he catch in total ¢

(A) 10 ® o © 18- (0} 12

144, S srEen | x T A
Find x from the given SEfies.
12.15,24,36.1.?'2

(A) 62 {B) 52 (C) 50 (D) 48
__—_._.____-.._———————_—-———-'--_-—
HH'E"“ 21 F-T-D'
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145, R S, g R FR T EE i S, g & o e A 77
(A) (B) e (C) =11 i (Fiw) (D) Al
If Xavier is the brother of the son of Yakub's son, how is Xavier refated 1o Yakub 7
(A} Brother (8) Son- - '(G)  Cousin () ks
146, Hgie 7} ot a0 4 100 T 7% 9 WA ¥ | i o v 3fE 0
The price of petrol rises from As, 8010 Rs.100. What is the percentage increase in price ?
(A)  30% (B) 20% (C) 25% (D) 10%
147, U Trafem Srdidn =t 2 favin fmt & o 9w o o g0 FE T E T R e
A A A E
(A T (B) TETE (C) T (D) Hamm
A regular dodecahedron is gliced by a plane passing through two oppesite edges and not through any
vertices. Whal is the shape of the cross-seciion 7
(A} Rhombus (B} Hectangle (C) Parallelogram (D} Pentagon
148. Frofaies § 3 S€e 99
Find the cdd one from the following.
(A} 455 (B] 452 - C) 451 (D) 453
149, =9 TF THEE F 3606 91 % T 06 ©F 57 e 9 € o $ 4 e & @ wie-dem
AT TR 7 :
(A) (B) e (C) e (D) wha
When a cylinder is sliced by a plane parallel to s height and passing through the center, what is the
shape of the cross-section 7 ! ' '
(A} Rectangle (B) 'Elipse ' (C)' Triangle (D) Circle
150. HIFH T H |
R : T H‘ﬁﬁn‘ s
(W) R B fFe . (C) T (D) F=m
Enmpﬂ&tﬁjthe analogy. -
Architect ,hlliliuaprint: . Ear_ulpns'gr £ 7
(A) Soorm .(B) Seript (C) Stage (D) Canvas
- =000-
RZX-24

o

& Download SSC CGL, CHSL E-BOOKS i



https://sscportal.in/study-kit/police-constable
https://sscportal.in/ebook

